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2% H4X Efh [ RB- AR EIEG]  (mm FES
= AN 6 =5 5kg 78 kg 900 EE
IJHN 1B =5 5kg i kg 850 EiE
= AN 8B =5 5kg 78 kg 800 EE
IJHN 102 =2F 5kg i kg 700 EiE
EMTDA 172 dtiEE 2kg i kg | 1,900
EMTDA 18 dbiEE 2kg i kg | 1,800
EMTDA 34 B 4kg & kg | 1,800
EMTDA 362 E& 4kg i kg | 1,600
EMTIR 38 E=F 4kg ] kg | 1,350
EMTDA 16 aF 2kg i kg | 2,100
Vi 27/28 R 5kg 5B kg 900
Y 10kg FEE3 1A #a kg | 2,400 B FEX
7Y 7/8kg #&E 1A Eie ke | 1,500 HEE EE
7Y 3E iEE | 10/12kg 5= kg 950 TE
huA 3kg =i 1A #a kg | 2,000 28 BEFE
huA 3E =i 8/9kg 5= kg | 1,450 # BEH
huA 4kg BB 1A #a kg | 1,400 £
= 2 dtiEE 3kgE #a kg | 2,600 Rl 48
< B i 4 i ded Skegf & ke | 4,300 iy EEEO
£ B 5 F8 [ S5kg& #a ke | 3,900 Y fEEO
VAP 2E & 4/5kg ] kg | 2,300 H 43
VAP 2E & 4/5kg ] kg | 2,600 # #EO
HIF 5/6/E Al #94ke & #8 | 4,800 FE #HEO
EiR 2/3kg RS 1A 5= kg | 2,400 EiE
B3574—L 6/7A £ 2% 5kg ] kg | 1,900
I —L 4/6 A JtifgE 5kg ] kg | 2,150 | ARG EERI. H~ . BE. B
=l dtiEE 3kg S kg 900
BT #9160 | dbiE@E {4 {4 300
HryFBE #9300¢g dbimE 1& kg | 1,800
258HF L dtiEE 500g P P | 4,700
25BHF it dtiEE 500g P P | 3,500
YT 100/130g Ei& 1& kg | 2,800
HHT 150/180g | R & kg | 2,800
4T 200/250g | R & kg | 2,950
YT 250/300¢g FE 1l kg | 3,500
YT 300/400g FE 1& kg | 3,600
HHT 400/500g | F%E (2 kg | 3,600




